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ÍÛæ̃ Û¶ÛÛ :   (1) þùÁéõïõ ¸ÛóÊ¶Û¶ÛÛ •Ûä̈ Û ÍÛÁõ”ÛÛ ™öé. 
Instructions :  Each question carries equal marks. 

    (2) ›÷ÄõÁõà •Û¨Û©ÛÁõà…Ûé ©Û¾ÛÛÁõÛ ›÷ÈÛÛ¼Û¶ÛÛ ½ÛÛ•ÛÄõ¸Ûé þùÉÛÛÙÈÛÛé. 
     Show necessary calculations as a part of your answer. 

 

1. ¡öàÅÛ ÜÅÛ. ¶Ûä× Š©¸ÛÛþù¶Û ©ÛíéýÛÛÁõ ¾ÛÛÅÛ Í¤øÛéïõ ”ÛÛ©Ûé ÅÛˆ ›÷©ÛÛ× ¸ÛÐéüÅÛÛ ¼Ûé ¸ÛóÜ’õýÛÛ…Ûé¾ÛÛ×¬Ûà ¸ÛÍÛÛÁõ ¬ÛÛýÛ ™öé. 
¸ÛóÜ’õýÛÛ-…¶Ûä× Š©¸ÛÛþù¶Û ¸Û¦ø©ÛÁõ Ýïõ¾Û©Û ¸ÛÁõ 50% ¶ÛºõÛé ˜Û§øÛÈÛà¶Ûé ¸ÛóÜ’õýÛÛ-¼Û ”ÛÛ©Ûé ÅÛˆ ›÷ÈÛÛ¾ÛÛ× …ÛÈÛé ™öé 

…¶Ûé ¸ÛóÜ’õýÛÛ-¼Û¶Ûä× Š©¸ÛÛþù¶Û ºéõÁõ¼ÛþùÅÛà Ýïõ¾Û©Û ¸ÛÁõ 16 
2

3
 % ¶ÛºõÛé ˜Û§øÛÈÛà¶Ûé ©ÛíéýÛÛÁõ ¾ÛÛÅÛ Í¤øÛéïõ ”ÛÛ©Ûé ÅÛˆ 

›÷ÈÛÛ¾ÛÛ× …ÛÈÛé ™öé. 31 Ü¦øÍÛé¾¼ÛÁõ, 2013¶ÛÛ ÁõÛé›÷ ¸ÛæÁõÛ ¬Û©ÛÛ ÈÛÌÛÙ ¾ÛÛ¤éø ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà ¾ÛÇé ™öé : 14 

 ¸ÛóÜ’õýÛÛ – … ¸ÛóÜ’õýÛÛ – ¼Û ©ÛíéýÛÛÁõ ¾ÛÛÅÛ Í¤øÛéïõ 

 `̀̀̀ `̀̀̀ `̀̀̀ 

Í¤øÛéïõ (1-1-2013) 1,32,000 90,000 3,57,000 

¸Ûó©ýÛ“Û ¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û 2,73,000 1,50,000 – 

¸Ûó©ýÛ“Û ¾Û›æ÷Áõà 5,40,000 3,00,000 – 

ïõÛÁõ”ÛÛ¶ÛÛ¶ÛÛ ¸ÛÁõÛé“Û 
”Û˜ÛÛÙ, ¸Ûó©ýÛ“Û ¾Û›æ÷Áõà 
¸ÛÁõ …Û¸ÛéÅÛ ¤øïõÛÈÛÛÁõà 
¾Ûä›÷¼Û 

                       

25% 

                      

30% 

                              

– 

Í¤øÛéïõ (31-12-2013) 90,000 67,500 4,22,100 

  þùÁéõïõ ¸ÛóÜ’õýÛÛ¶ÛÛé Í¤øÛéïõ ©Ûé¶Ûà ¸ÛóÛ¬ÛÜ¾Ûïõ ¸Û¦ø©ÛÁõ¶ÛÛ µÛÛéÁõ¨Ûé …Û×ïõÈÛÛ¾ÛÛ× …ÛÈÛé ™öé. ÈÛÌÛÙ þùÁõ¾ýÛÛ¶Û¶Ûä× 
ÈÛé̃ ÛÛ¨Û ` 28,00,000 Ðü©Ûä×. ¸ÛóÜ’õýÛÛ-¼Û¶ÛÛ …¶Ûé ©ÛíéýÛÛÁõ ¾ÛÛÅÛ¶ÛÛ ÉÛÄõ…Û©Û¶ÛÛ Í¤øÛéïõ ¸ÛÁõ ¶ÛÐüá ¾ÛÇéÅÛ ¶ÛºõÛ 
¾ÛÛ¤éø¶Ûä× …¶ÛÛ¾Û©Û …¶Ûä’õ¾Ûé ` 27,000 …¶Ûé ` 99,900 Ðü©Ûä×. 

 ©ÛíéýÛÛÁõ ïõÁõÛé : 

 (1) þùÁéõïõ ©Û¼Û‘éõ ¶ÛºõÛé þùÉÛÛÙÈÛ©ÛÛ× ¸ÛóÜ’õýÛÛ ”ÛÛ©ÛÛ 

 (2) ©ÛíéýÛÛÁõ ¾ÛÛÅÛ¶ÛÛ Í¤øÛéïõ¶Ûä× ”ÛÛ©Ûä× 

 (3) ”ÛÁéõ”ÛÁõ ¾ÛÇéÅÛ ¶ÛºõÛé þùÉÛÛÙÈÛ©Ûä× ¸ÛªÛïõ 
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 The product of Zeel Ltd. passes through two processes before it is transferred to finished 

stock. The output of process A is transferred to process B at 50% profit on cost and the 

output of process B is transferred to finished stock account at 16 
2

3
 % profit on transfer 

price. The following information is available for the year ended 31
st
 December, 2013. 

 Process – A Process – B Finished Stock 

 `̀̀̀ `̀̀̀ `̀̀̀ 

Stock (1-1-2013) 1,32,000 90,000 3,57,000 

Direct materials 2,73,000 1,50,000 – 

Direct wages 5,40,000 3,00,000 – 

Factory Overheads as 

percentage of wages 

                       

25% 

                      

30% 

                          

– 

Stock (31-12-2013) 90,000 67,500 4,22,100 

  Stock in each process is valued at its prime cost. The sales during the year 

amounted to ` 28,00,000. The reserves for unrealized profits on the opening stock of 

process B and finished goods were of ` 27,000 and ` 99,900. 

 Prepare : (1) Process accounts showing profits at each stage. 

   (2) Finished stock account. 

   (3) Statement showing actual realized profit. 

…¬ÛÈÛÛ/OR 

 µÛóä¾Ûà ÜÅÛ.¶Ûà ¸ÛóÜ’õýÛÛ-… ¶Ûé ÅÛ•Û©Ûà Ü¦øÍÛé¾¼ÛÁõ, 2013¶Ûà ¾ÛÛÜÐü©Ûà ¶Ûà˜Ûé ¾Ûä›÷¼Û ™öé : 14 

 Information of Dhrumi Ltd. in respect of Process – A for December, 2013 is as under : 

 (1) ÉÛÄõ…Û©Û¶ÛÛé …µÛÙ ©ÛíéýÛÛÁõ ¾ÛÛÅÛ¶ÛÛé Í¤øÛéïõ : 
  …éïõ¾ÛÛé : 1,000 `̀̀̀ 

  ©Ûé¶Ûà ¸Û¦ø©ÛÁõ : ¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û 96,200 

    ¾Û›æ÷Áõà 19,800 

    ¸ÛÁõÛé“Û ”Û˜ÛÛÙ 15,000 

  Opening stock of work in progress : 

  Units : 1,000 `̀̀̀ 

  Its Cost :  Material 96,200 

    Labour 19,800 

    Overheads 15,000 

 (2) ¸ÛóÜ’õýÛÛ¶ÛÛ ”Û˜ÛÛÙ : 
     `̀̀̀ 

  þùÛ”ÛÅÛ ïõÁéõÅÛ ¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û 
   (5,000 …éïõ¾ÛÛé) 2,40,000 

   ¾Û›æ÷Áõà  1,60,000 

   ¸ÛÁõÛé“Û ”Û˜ÛÛÙ 1,20,000 
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  Process expenses : 

     `̀̀̀ 

  Material introduced 

   (5,000 units) 2,40,000 

   Labour 1,60,000 

   Overheads 1,20,000 

 (3) ÍÛÛ¾ÛÛ¶ýÛ ¼Û•ÛÛ¦ø: ïäõÅÛ þùÛ”ÛÅÛ ïõÁéõÅÛ …éïõ¾ÛÛé¶ÛÛ 5% (ÉÛÄõ…Û©Û¶ÛÛé Í¤øÛéïõ + þùÛ”ÛÅÛ ïõÁéõÅÛ …éïõ¾ÛÛé) 
  Normal wastage : 5% of total input (Opening Stock + Units introduced). 

 (4) …µÛÙ ©ÛíéýÛÛÁõ ¾ÛÛÅÛ¶ÛÛé …Û”ÛÁõ¶ÛÛé Í¤øÛéïõ : 1,250 …éïõ¾ÛÛé. 
  Closing stock of work-in-progress : 1,250 units. 

 (5) ¸ÛóÜ’õýÛÛ-¼Û ”ÛÛ©Ûé ÅÛˆ •ÛýÛéÅÛ Š©¸ÛÛþù¶Û : 4,250 …éïõ¾ÛÛé. 
  Production transferred to Process – B : 4,250 units. 

 (6) ¸Ûæ̈ ÛÙ©ÛÛ¶Ûà ïõ“ÛÛ : 

 ÉÛÄõ…Û©Û¶ÛÛé Í¤øÛéïõ …Û”ÛÁõ¶ÛÛé Í¤øÛéïõ ¼Û•ÛÛ¦ø 

¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û 90% 100% 80% 

¾Û›æ÷Áõà 75% 70% 60% 

¸ÛÁõÛé“Û”Û˜ÛÛÙ 35% 40% 50% 

  Degree of completion : 

 Opening Stock Closing Stock Wastage 

Material 90% 100% 80% 

Labour 75% 70% 60% 

Overheads 35% 40% 50% 

 (7) ¼Û•ÛÛ¦ø¶Ûà ÈÛé̃ ÛÛ¨Û Ýïõ¾Û©Û …éïõ¾Ûþùà¥ø ` 10 ™öé. 

  ©ÛíéýÛÛÁõ ïõÁõÛé : 

  (1) ¸Ûæ̈ ÛÙ …éïõ¾ÛÛé¶Ûä× ¸ÛªÛïõ ÜºõºõÛé ¸Û±ùÜ©Û¶ÛÛé Š¸ÛýÛÛé•Û ïõÁõà¶Ûé 

  (2) ¸Û¦ø©ÛÁõ ¸ÛªÛïõ 

  (3) ¾ÛæÅýÛÛ×ïõ¶Û ¸ÛªÛïõ 

  (4) ¸ÛóÜ’õýÛÛ-…¶Ûä× ”ÛÛ©Ûä× 
  Wastage is sold at ` 10 per unit. 

  Prepare : (1) Statement of equivalent production using FIFO method. 

    (2) Statement of cost. 

    (3) Valuation statement. 

    (4) Process – A account. 
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2. •Û¾Ûé ©Ûé ¼Ûé ¸ÛóÊ¶ÛÛé¶ÛÛ ›÷ÈÛÛ¼Û ÅÛ”ÛÛé : 14 

 Answer any two : 

 (1)  …ÛÉÛÛ ÜÅÛ.¶Ûà ¾ÛÛÜÐü©Ûà ¶Ûà˜Ûé ¾Ûä›÷¼Û ™öé : 

 `̀̀̀ 

ÈÛé̃ ÛÛ¨Û (12,000 …éïõ¾ÛÛé) 9,00,000 

˜ÛÜÅÛ©Û ”Û˜ÛÛÙ 5,40,000 

ÜÍ¬ÛÁõ ”Û˜ÛÛÙ 3,00,000 

  •Û¨Û©ÛÁõà ïõÁõÛé : (1) ÍÛ¾Û©Ûæ¤ø Ü¼Û¶þäù (…éïõ¾ÛÛé …¶Ûé ÄõÜ¸ÛýÛÛ) 
     (2) ` 1,50,000 ¶ÛÛé ¶ÛºõÛé ïõ¾ÛÛÈÛÛ ¾ÛÛ¤éø ›÷ÄõÁõ ÈÛé̃ ÛÛ¨Û¶ÛÛ …éïõ¾ÛÛé 
     (3) ›Ûé ÍÛ¾Û©Ûæ¤ø Ü¼Û¶þäù 8,000 …éïõ¾ÛÛé ÐüÛéýÛ ©ÛÛé ›÷ÄõÁõà ÈÛé̃ ÛÛ¨Û Ýïõ¾Û©Û 
  Information of Asha Ltd. is as follows : 

 `̀̀̀ 

Sales (12,000 units) 9,00,000 

Variable expenses 5,40,000 

Fixed expenses 3,00,000 

  Calculate : (1) Break even point (units and rupees) 

    (2) Necessary sales units to earn profit of ` 1,50,000 

    (3) Necessary selling price if Break even point is 8,000 units. 

 (2) ÜÈÛÜµÛ ÜÅÛ.¶Ûà ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà ¾ÛÇé ™öé : 

 `̀̀̀ 

ÈÛé̃ ÛÛ¨Û 10,00,000 

¶ÛºõÛé 1,60,000 

  ˜ÛÜÅÛ©Û ”Û˜ÛÛÙ ÈÛé̃ ÛÛ¨Û¶ÛÛ 50%. 
  •Û¨Û©ÛÁõà ïõÁõÛé : (1) ¶ÛºõÛ-›÷¬¬ÛÛ¶ÛÛé •Ûä̈ ÛÛé«ÛÁõ 
    (2) ÍÛ¾Û©Ûæ¤ø Ü¼Û¶þäù 
    (3) ›Ûé ÜÍ¬ÛÁõ ”Û˜ÛÛÙ ` 60,000¬Ûà ÈÛµÛé ©ÛÛé ¶ÛÈÛä× ÍÛ¾Û©Ûæ¤ø Ü¼Û¶þäù …¶Ûé ¶ÛºõÛé. 
  The following information is available of Vidhi Ltd. : 

 `̀̀̀ 

Sales  10,00,000 

Profit 1,60,000 

  Variable expenses 50% of sales. 

  Calculate : (1) P.V. Ratio 

    (2) Break even point 

    (3) New break even point and profit if fixed expenses are increased by 

` 60,000. 
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 (3) ‘˜ÛÛÈÛà Äõ¸Û ¸ÛÜÁõ¼ÛÇ’ ÜÈÛÉÛé ¶ÛÛêµÛ ÅÛ”ÛÛé. 
  Write a short note on ‘Key factor’. 

 (4) ÍÛ¾Û›ÛÈÛÛé : ¦æø¼ÛéÅÛà ¸Û¦ø©ÛÁõ, ºõÛÇÛé, ÍÛ×¼Û×ÜµÛ©Û ¸Û¦ø©ÛÁõ, ÍÛà¾ÛÛ¶©Û ¸Û¦ø©ÛÁõ 
  Explain : Sunk cost, Contribution, Relevant cost, Marginal cost. 
 

3. (A) ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà ¸ÛÁõ¬Ûà ¾Û›æ÷Áõà ”Û˜ÛÙ¶ÛÛ ÜÈÛ˜ÛÅÛ¶ÛÛé¶Ûà •Û¨Û©ÛÁõà ïõÁõÛé : 14 
  …éïõ¾Ûþùà¥ø ¸Ûó¾ÛÛ¨Û ïõÅÛÛïõÛé : 5 

  ïõÅÛÛïõþùà¥ø ¾Û›æ÷Áõà¶ÛÛé ¸Ûó¾ÛÛ¨Û þùÁõ : ` 30 

  ”ÛÁéõ”ÛÁõ Š©¸ÛÛþù¶Û : 2,000 …éïõ¾ÛÛé 
  ”ÛÁéõ”ÛÁõ ˜ÛæïõÈÛéÅÛ ïõÅÛÛïõÛé : 9,800 

  ”ÛÁéõ”ÛÁõ ïõÛ¾Û¶ÛÛ ïõÅÛÛïõÛé : 9,500 

  ïõÅÛÛïõþùà¥ø ¾Û›æ÷Áõà¶ÛÛé ”ÛÁéõ”ÛÁõ þùÁõ : ` 32 

  From the following information, calculate labour cost variances : 

  Standard hours per unit : 5 

  Standard wage rate per hour : ` 30 

  Actual production : 2,000 units 

  Actual paid hours : 9,800 

  Actual working hours : 9,500 

  Actual wage rate per hour : ` 32 

 (B) ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà ¸ÛÁõ¬Ûà ¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û ”Û˜ÛÙ¶ÛÛ ÜÈÛ˜ÛÅÛ¶ÛÛé¶Ûà •Û¨Û©ÛÁõà ïõÁõÛé : 
  …éïõ¾Ûþùà¥ø ¸Ûó¾ÛÛ¨Û ÈÛ¸ÛÁõÛÉÛ : 15 ÜïõÅÛÛé. 
  ÜïõÅÛÛéþùà¥ø ¸Ûó¾ÛÛ¨Û ½ÛÛÈÛ : ` 20 

  ”ÛÁéõ”ÛÁõ Š©¸ÛÛþù¶Û : 4,000 …éïõ¾ÛÛé 
  ”ÛÁéõ”ÛÁõ ¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û ”Û˜ÛÙ : ` 12,00,000 

  ”ÛÁéõ”ÛÁõ ÈÛ¸ÛÁõÛÉÛ : 61,000 ÜïõÅÛÛé 
  From the following information, calculate material cost variances : 

  Standard usage per unit : 15 kgs. 

  Standard price per kg : ` 20 

  Actual production: 4,000 units 

  Actual material cost : ` 12,00,000 

  Actual usage : 61,000 kgs 

 (C) ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà ¸ÛÁõ¬Ûà •Û¨Û©ÛÁõà ïõÁõÛé : 
  (1) ÜÍ¬ÛÁõ ÜÉÛÁõÛȩ́ ÛÁõà ”Û˜ÛÙ ¸Û¦ø©ÛÁõ ÜÈÛ˜ÛÅÛ¶Û 
  (2) ”Û˜ÛÙ ÜÈÛ˜ÛÅÛ¶Û (˜ÛæïõÈÛ¨Ûà ÜÈÛ˜ÛÅÛ¶Û) 
  (3) ïõÛýÛÙ“Û¾Û©ÛÛ ÜÈÛ˜ÛÅÛ¶Û 
  (4) Š©¸ÛÛþù¶Û ÉÛÜî©Û ÜÈÛ˜ÛÅÛ¶Û 
  (5) ›÷¬¬ÛÛ ÜÈÛ˜ÛÅÛ¶Û 

 ¼Û›÷é¤ø ”ÛÁéõ”ÛÁõ 
ÜÍ¬ÛÁõ ÜÉÛÁõÛȩ́ ÛÁõà ”Û˜ÛÛÙ (`) 2,50,000 2,62,000 

Š©¸ÛÛþù¶Û (…éïõ¾ÛÛé) 5,000 5,200 

ïõÛ¾Û¶ÛÛ ïõÅÛÛïõÛé 25,000 25,500 
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  From the following information, calculate : 

  (1) Fixed overhead cost variance. 

  (2) Expenditure variance 

  (3) Efficiency variance 

  (4) Capacity variance 

  (5) Volume variance 

 Budgeted Actual 

Fixed Overheads  (`) 2,50,000 2,62,000 

Production (units) 5,000 5,200 

Working Hours 25,000 25,500 

…¬ÛÈÛÛ/OR 

 (A) ïèõÜ©Û ÜÅÛ. ¼Ûé ýÛ×ªÛÛé ¸Ûíéïõà …éïõ ýÛ×ªÛ ”ÛÁõàþùÈÛÛ ¾ÛÛ×•Ûé ™öé, ›÷é þùÁéõïõ¶Ûà ¸Û¦ø©ÛÁõ Ýïõ¾Û©Û ` 5,00,000 ™öé. 
þùÁéõïõ ýÛ×ªÛ¶Ûä× …×þùÛœ÷ …ÛýÛäÌýÛ 5 ÈÛÌÛÙ ™öé. …¸ÛéÜ“Û©Û ÈÛÇ©ÛÁõ¶ÛÛé þùÁõ 10% ™öé. …¸ÛéÜ“Û©Û ÁõÛéïõ¦ø 
¸ÛóÈÛÛÐü …¶Ûé ` 1¶Ûä× ÈÛ©ÛÙ¾ÛÛ¶Û ¾ÛæÅýÛ ¶Ûà˜Ûé ¾Ûä›÷¼Û ™öé : 10 

ýÛ×ªÛ – “Û ýÛ×ªÛ – ýÛ 
10% ÈÛ¤øÛÈÛ þùÁéõ `̀̀̀ 1 ¶Ûä× 

ÈÛ©ÛÙ¾ÛÛ¶Û ¾ÛæÅýÛ ÈÛÌÛÙ 
` ` ` 

1 1,25,000 1,60,000 0.909 

2 1,75,000 1,70,000 0.826 

3 2,00,000 1,40,000 0.751 

4 1,70,000 3,60,000 0.683 

5 1,30,000 3,10,000 0.621 

  ¶Ûà˜Ûé¶Ûà ¸Û±ùÜ©Û…Ûé ¾Ûä›÷¼Û ýÛ×ªÛ¶Ûà ¸ÛÍÛ×þù•Ûà …×•Ûé ï×õ¸Û¶Ûà¶Ûé ÍÛÅÛÛÐü …Û¸ÛÛé : 
  (1) ¸ÛÁõ©Û …Û¸Û ÍÛ¾ÛýÛ 
  (2) ˜ÛÛé””Ûä× ÈÛ©ÛÙ¾ÛÛ¶Û ¾ÛæÅýÛ 
  (3) ¶ÛºõÛïõÛÁõïõ©ÛÛ¶ÛÛé …Û×ïõ 
  Kruti Ltd. wants to purchase one of the two alternative machines, each costing       

` 5,00,000.Estimated Life of each machine is 5 years. Expected rate of return is 

10%. Expected cash inflow and present value of ` 1 is as follows : 

Machine – X Machine – Y 
Present Value of  `̀̀̀ 1 

at 10% Discount Year 

` ` ` 

1 1,25,000 1,60,000 0.909 

2 1,75,000 1,70,000 0.826 

3 2,00,000 1,40,000 0.751 

4 1,70,000 3,60,000 0.683 

5 1,30,000 3,10,000 0.621 

  Advise the company regarding the selection of machine as per the following 

methods : 

  (1) Pay back period 

  (2) Net present value 

  (3) Profitability index 
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 (B)  Ü˜ÛÁõÛ•Û ÜÅÛ.¶Ûà ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà ¸ÛÁõ¬Ûà ïõÛ¾Û•ÛàÁõà ÜÅÛÈÛÁéõ›÷ …¶Ûé ¶ÛÛ¨ÛÛïõàýÛ ÜÅÛÈÛÁéõ›÷¶Ûà •Û¨Û©ÛÁõà 
ïõÁõÛé :    4 

  ÈÛé̃ ÛÛ¨Û¶ÛÛ …éïõ¾ÛÛé 25,000 

  ˜ÛÜÅÛ©Û ”Û˜ÛÛÙ …éïõ¾Ûþùà¥ø ` 8 

  ÈÛé̃ ÛÛ¨Û Ýïõ¾Û©Û …éïõ¾Ûþùà¥ø ` 20 

  ÜÍ¬ÛÁõ ”Û˜ÛÛÙ (ÈýÛÛ›÷ ÜÍÛÈÛÛýÛ¶ÛÛ) ` 1,50,000 

  ÈýÛÛ›÷ ` 50,000 

  ïõÁõÈÛéÁõÛ¶ÛÛé þùÁõ 40% 

  From the following information of Chirag Ltd., calculate Operating liverage and 

Financial liverage : 

  Sales units 25,000 

  Variable cost per unit ` 8 

  Sales price per unit ` 20 

  Fixed expenses (excluding interest) ` 1,50,000 

  Interest ` 50,000 

  Tax rate 40% 

 

4.  ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà ¸ÛÁõ¬Ûà ïõþù¾Û ÜÅÛ. ¶Ûä× ›ä÷ÅÛÛˆ, …Ûé•ÛÌ¤ø …¶Ûé ÍÛ¸¤éø¾¼ÛÁõ 2014¶ÛÛ ¾ÛÜÐü¶ÛÛ…Ûé ¾ÛÛ¤éø ÁõÛéïõ¦ø 
…×þùÛ›÷ ¸ÛªÛ ©ÛíéýÛÛÁõ ïõÁõÛé :  14 

ÈÛé̃ ÛÛ¨Û ”ÛÁõàþùà ¾Û›æ÷Áõà ¸ÛÁõÛé“Û ”Û˜ÛÛÙ 
¾ÛÛÍÛ 

`̀̀̀ `̀̀̀ `̀̀̀ `̀̀̀ 

¾Ûé 3,00,000 2,50,000 20,000 36,000 

›æ÷¶Û 4,00,000 3,20,000 24,000 32,000 

›ä÷ÅÛÛˆ 4,50,000 3,60,000 28,000 40,000 

…Ûé•ÛÌ¤ø 5,00,000   4,00,000 30,000 42,000 

ÍÛ¸¤éø¾¼ÛÁõ 6,00,000 5,40,000 32,000 44,000 

 …¶ýÛ ¾ÛÛÜÐü©Ûà : 

 (1) ©ÛÛ. 30-6-2014¶ÛÛ ÁõÛé›÷ ÁõÛéïõ¦ø ÜÍÛÅÛïõ : ` 40,000 

 (2) ÁõÛéïõ¦ø ÈÛé̃ ÛÛ¨Û …¶Ûé ŠµÛÛÁõ ÈÛé̃ ÛÛ¨Û¶Ûä× ¸Ûó¾ÛÛ¨Û : 1 : 4 

 (3) ÁõÛéïõ¦ø ÈÛé̃ ÛÛ¨Û ¸ÛÁõ ÁõÛéïõ¦ø ÈÛ¤øÛÈÛ¶ÛÛé þùÁõ : 5% 

 (4) ÍÛ¾ÛýÛ •ÛÛÇÛé : ŠµÛÛÁõ ÈÛé̃ ÛÛ¨Û 2 ¾ÛÛÍÛ 
    ŠµÛÛÁõ ”ÛÁõàþùà 1½ ¾ÛÛÍÛ 
    ¾Û›æ÷Áõà ½ ¾ÛÛÍÛ 
   ˜ÛÜÅÛ©Û ¸ÛÁõÛé“Û ”Û˜ÛÛÙ ¼ ¾ÛÛÍÛ 
 (5) ¸ÛÁõÛé“Û ”Û˜ÛÛÙ¾ÛÛ× ¾ÛÛÜÍÛïõ ` 16,000 ¶ÛÛ ÜÍ¬ÛÁõ ”Û˜ÛÛÙ¶ÛÛé ÍÛ¾ÛÛÈÛéÉÛ ¬ÛýÛéÅÛ ™öé. 
 (6) 30 ÍÛ¸¤éø¾¼ÛÁõ¶ÛÛ ÁõÛé›÷ ` 100¶ÛÛé …éïõ …éÈÛÛ 2,000 Ü¦ø¼Ûễ ÛÁõ 10%¶ÛÛ ¸ÛóàÜ¾ÛýÛ¾Ûé ¸ÛÁõ©Û ïõÁõÈÛÛ¶ÛÛ ™öé. 

Ü¦ø¼Ûễ ÛÁ ¸ÛÁõ ÈÛÛÜÌÛÙïõ 10% ÅÛé”Ûé ™öéÅÅÛä× ÜªÛ¾ÛÛÜÍÛïõ ÈýÛÛ›÷ ¸Û¨Û ˜ÛæïõÈÛÈÛÛ¶Ûä× ™öé. 
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 From the following information, prepare cash budget of Kadam Ltd. for the months of 

July, August and September 2014 : 

Sales Purchases Wages Overheads 
Month 

`̀̀̀ `̀̀̀ `̀̀̀ `̀̀̀ 

May 3,00,000 2,50,000 20,000 36,000 

June 4,00,000 3,20,000 24,000 32,000 

July 4,50,000 3,60,000 28,000 40,000 

August 5,00,000   4,00,000 30,000 42,000 

September 6,00,000 5,40,000 32,000 44,000 

 Other information : 

 (1) Cash balance as on 30-6-2014 : ` 40,000 

 (2) Cash sales and credit sales ratio : 1 : 4 

 (3) Rate of cash discount on cash sales : 5% 

 (4) Time lag : Credit sales 2 months 

    Credit purchases 1½ months 

    Wages ½ month 

   Variable overheads ¼ month 

 (5) Overheads include ` 16,000 per month for fixed expenses. 

 (6) 2,000 Debentures of ` 100 each are to be redeemed on 30
th

 September at 10% 

premium. Last quarter interest, at 10% p.a. on Debentures, is also to be paid. 

…¬ÛÈÛÛ/OR 

 ©ÛäÅÛÍÛà ÜÅÛ. ¶Ûà ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà ¾ÛÇà ™öé :  14 

60% ÉÛÜî©Û 80% ÉÛÜî©Û 
ÜÈÛ•Û©Û 

`̀̀̀ `̀̀̀ 

¸Ûó©ýÛ“Û ¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û 60,000 80,000 

¸Ûó©ýÛ“Û ¾Û›æ÷Áõà 36,000 48,000 

¸ÛÁõÛé“Û ”Û˜ÛÛÙ 24,000 30,000 

½ÛÛ¦ä×ø 10,000 10,000 

¸ÛÛÈÛÁõ 16,000 20,000 

…ÛéÜºõÍÛ¶ÛÛ ”Û˜ÛÛÙ 44,000 52,000 

–ÛÍÛÛÁõÛé 18,000 18,000 

ÈÛé̃ ÛÛ¨Û¶ÛÛ ”Û˜ÛÛÙ 27,000 32,000 

ÜÈÛ©ÛÁõ¨Û¶ÛÛ ”Û˜ÛÛÙ 48,000 64,000 

ÈÛé̃ ÛÛ¨Û     5,40,000      7,20,000 

  70% …¶Ûé 90% Š©¸ÛÛþù¶Û “Û¾Û©ÛÛ ¾ÛÛ¤éø ¸ÛÜÁõÈÛ©ÛÙ¶ÛÉÛàÅÛ …×þùÛ›÷¸ÛªÛ ©ÛíéýÛÛÁõ ïõÁõÛé …¶Ûé ¶ÛºõÛé ÉÛÛéµÛÛé. 
ï×õ¸Û¶Ûà 100% ÉÛÜî©Û…é 10,000 …éïõ¾ÛÛé¶Ûä× Š©¸ÛÛþù¶Û ïõÁõà ÉÛïéõ ™öé.  
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 The following information is available of Tulsi Ltd. : 

60% Capacity 80% Capacity 
Particulars 

`̀̀̀ `̀̀̀ 

Direct materials 60,000 80,000 

Direct wages 36,000 48,000 

Indirect expenses 24,000 30,000 

Rent 10,000 10,000 

Power 16,000 20,000 

Office expenses 44,000 52,000 

Depreciation 18,000 18,000 

Selling expenses 27,000 32,000 

Distribution expenses 48,000 64,000 

Sales     5,40,000      7,20,000 

  Prepare flexible budget for 70% and 90% production capacity and find out profit. 

The company can produce 10,000 units at 100% capacity. 

 

5. ÍÛÛ˜ÛÛ ›÷ÈÛÛ¼Û¶Ûà ¸ÛÍÛ×þù•Ûà ïõÁõÛé …¶Ûé ›÷ÄõÁõ ÐüÛéýÛ ©ýÛÛ× ›÷ÄõÁõà •Û¨Û©ÛÁõà þùÉÛÛÙÈÛÛé : (•Û¾Ûé ©Ûé ÍÛÛ©Û) 14 

 Select the correct answer and show necessary calculations, if necessary (any seven) : 

 (1) D ÜÅÛ. ` 8,00,000¶Ûà Ýïõ¾Û©Û¶Ûä× …éïõ ýÛ×ªÛ •ÛÛé¥øÈÛÈÛÛ ¾ÛÛ×•Ûé ™öé. ýÛ×ªÛ ³ùÛÁõÛ 10% –ÛÍÛÛÁõÛé …¶Ûé 
40% ïõÁõÈÛéÁõÛ ¼ÛÛþù ïõýÛÛÙ ¸ÛÐéüÅÛÛ ÈÛÛÜÌÛÙïõ ` 2,80,000 ¶ÛºõÛé ¬ÛÉÛé. ¸ÛÁõ©Û …Û¸Û ÍÛ¾ÛýÛ ïéõ¤øÅÛÛé ¬ÛÉÛé ? 

  (a) 2.86 ÈÛÌÛÙ  (b) 4 ÈÛÌÛÙ 
  (c) 6.67 ÈÛÌÛÙ  (d) Š¸ÛÁõ¶ÛÛ ¸Ûíéïõà …éïõ¸Û¨Û ¶ÛÐüá 
  D Ltd. wants to install a machine costing ` 8,00,000. It will earn annual profit of         

` 2,80,000 before charging 10% depreciation and 40% tax. What will be the pay 

back period ? 

  (a) 2.86 years  (b) 4 years 

  (c) 6.67 years  (d) None of the above  

 (2) K Ltd. ` 5,00,000¶Ûà ¸Û¦ø©ÛÁõ Ýïõ¾Û©Û¶Ûä× …éïõ ¾ÛÉÛà¶Û ”ÛÁõàþùÈÛÛ ¾ÛÛ×•Ûé ™öé, ›÷é¶Ûà Š¸ÛýÛÛé•Ûà œ×÷þù•Ûà 
5 ÈÛÌÛÙ ™öé. ïõÁõÈÛéÁõÛ¶ÛÛé þùÁõ 40% ™öé. –ÛÍÛÛÁõÛé …¶Ûé ïõÁõÈÛéÁõÛ ¸ÛÐéüÅÛÛ¶ÛÛé ÁõÛéïõ¦ø ¸ÛóÈÛÛÐü ¶Ûà˜Ûé ¾Ûä›÷¼Û ™öé : 

  ` 1,75,000, ` 2,00,000, ` 2,25,000, ` 3,00,000 …¶Ûé ` 1,25,000 

  ÍÛÁéõÁõÛÉÛ ÈÛÇ©ÛÁõ þùÁõ ïéõ¤øÅÛÛé ¬ÛÉÛé ? 
  (a) 25.2%  (b) 12.6% 

  (c) 4.1%   (d) Š¸ÛÁõ¶ÛÛ ¸Ûíéïõà …éïõ¸Û¨Û ¶ÛÐüá 
  K Ltd. wants to buy a machine costing ` 5,00,000, which has useful life of 5 years. 

Tax rate is 40%.Cash flows before depreciation and tax are as follows : 

  ` 1,75,000, ` 2,00,000, ` 2,25,000, ` 3,00,000 and ` 1,25,000 

  What will be Average rate of return ? 

  (a) 25.2%  (b) 12.6% 

  (c) 4.1%   (d) None of the above  
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 (3) …éïõ ¸ÛóÜ’õýÛÛ¶Ûé ÅÛ•Û©Ûà ¾ÛÛÜÐü©Ûà ¶Ûà˜Ûé ¾Û›ä÷¼Û ™öé : 

  ÍÛÛ¾ÛÛ¶ýÛ ¼Û•ÛÛ¦ø 5% 

  …ÍÛÛ¾ÛÛ¶ýÛ ¼Û•ÛÛ¦ø 180  …éïõ¾ÛÛé 
  Š©¸ÛÛþù¶Û 2,195 …éïõ¾ÛÛé 

  ¸ÛóÜ’õýÛÛ¾ÛÛ× þùÛ”ÛÅÛ ïõÁéõÅÛ …éïõ¾ÛÛé¶Ûà •Û¨Û©ÛÁõà ïõÁõÛé. 
  (a) 2,195 …éïõ¾ÛÛé (b) 2,375 …éïõ¾ÛÛé 
  (c) 2,500 …éïõ¾ÛÛé (d) Š¸ÛÁõ¶ÛÛ ¸Ûíéïõà …éïõ¸Û¨Û ¶ÛÐüá 
  The following information relates to a process : 

  Normal loss 5% 

  Abnormal loss 180  units 

  Production 2,195 units 

  Find out the no. of units introduced in the process. 

  (a) 2,195 units  (b) 2,375 units 

  (c) 2,500 units  (d) None of the above 

 (4)  ¸ÛóÜ’õýÛÛ-1¶Ûà ÜÈÛ•Û©ÛÛé ¶Ûà˜Ûé ¾Ûä›÷¼Û ™öé : 
   ÉÛÄõ…Û©Û¶ÛÛé Í¤øÛéïõ  : 8,000 …éïõ¾ÛÛé 
   (¸Ûæ̈ ÛÙ©ÛÛ¶Ûà ïõ“ÛÛ : ¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û 80%) 

   ©ÛíéýÛÛÁõ …éïõ¾ÛÛé : 25,000 …éïõ¾ÛÛé 
   ÍÛÛ¾ÛÛ¶ýÛ ¼Û•ÛÛ¦ø : 2,000 …éïõ¾ÛÛé 

   …ÍÛÛ¾ÛÛ¶ýÛ ¼Û•ÛÛ¦ø : 1,000 …éïõ¾ÛÛé 
   …Û”ÛÁõ¶ÛÛé Í¤øÛéïõ : 5,000 …éïõ¾ÛÛé 
   (¸Ûæ̈ ÛÙ©ÛÛ¶Ûà ïõ“ÛÛ  :  ¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û 60%) 

  ÍÛÁéõÁõÛÉÛ ¸Û±ùÜ©Û ¾Ûä›÷¼Û ¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û¶Ûà ´ùÜÌ¤ø…é ÍÛ×̧ Ûæ̈ ÛÙ …éïõ¾ÛÛé ïéõ¤øÅÛÛ ¬ÛÉÛé ? 
  (a) 25,000 …éïõ¾ÛÛé (b) 29,000 …éïõ¾ÛÛé 
  (c) 22,600 …éïõ¾ÛÛé (d) Š¸ÛÁõ¶ÛÛ ¸Ûíéïõà …éïõ¸Û¨Û ¶ÛÐüá 
  Particulars of process-1 are as under : 

   Opening stock  : 8,000 units 

   (Degree of completion : Material 80%) 

   Finished goods : 25,000 units 

   Normal wastage : 2,000 units 

   Abnormal wastage : 1,000 units 

   Closing stock : 5,000 units 

   (Degree of completion  :  material 60%) 

  What will be equivalent units of material as per Average method ? 

  (a) 25,000 units (b) 29,000 units 

  (c) 22,600 units (d) None of the above 
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 (5)  ÜÍ¬ÛÁõ ÜÉÛÁõÛȩ́ ÛÁõà ”Û˜ÛÙ ¸Û¦ø©ÛÁõ ÜÈÛ˜ÛÅÛ¶Û = 

  (a) ˜ÛæïõÈÛ¨Ûà ÜÈÛ˜ÛÅÛ¶Û + ›÷¬¬ÛÛ ÜÈÛ˜ÛÅÛ¶Û 

  (b) ˜ÛæïõÈÛ¨Ûà ÜÈÛ˜ÛÅÛ¶Û + ÉÛÜî©Û ÜÈÛ˜ÛÅÛ¶Û + ïõÛýÛÙ“Û¾Û©ÛÛ ÜÈÛ˜ÛÅÛ¶Û 

  (c) ˜ÛæïõÈÛ¨Ûà ÜÈÛ˜ÛÅÛ¶Û + ïéõÅÛé¶¦øÁõ ÜÈÛ˜ÛÅÛ¶Û + ÉÛÜî©Û ÜÈÛ˜ÛÅÛ¶Û + ïõÛýÛÙ“Û¾Û©ÛÛ ÜÈÛ˜ÛÅÛ¶Û 

  (d) Š¸ÛÁõ¶ÛÛ ¼ÛµÛÛ ›÷ 
  Fixed Overhead cost variance = 

  (a) Expenditure variance + Volume variance 

  (b) Expenditure variance + Capacity variance + Efficiency variance 

  (c) Expenditure variance + Calender variance + Capacity variance + Efficiency 

variance 

  (d) All of the above 

 (6)  M ÜÅÛ. ¶Ûà ¾ÛÛÜÐü©Ûà : 
 ¼Û›÷é¤ø          

`̀̀̀ 

”ÛÁéõ”ÛÁõ 
`̀̀̀ 

˜ÛÜÅÛ©Û ¸ÛÁõÛé“Û ”Û˜ÛÛÙ 25,000 26,200 

ïõÛ¾ÛþùÛÁõ-ïõÅÛÛïõ 5,000 5,050 

Š©¸ÛÛþù¶Û¶ÛÛ …éïõ¾ÛÛé 1,250 1,300 

  ˜ÛÜÅÛ©Û ¸ÛÁõÛé“Û ”Û˜ÛÙ ïõÛýÛÙ“Û¾Û©ÛÛ ÜÈÛ˜ÛÅÛ¶Û¶Ûà •Û¨Û©ÛÁõà ïõÁõÛé. 

  (a) 1,200 (…¶Ûä.) (b) 1,200 (¸Ûó.Ü©Û.) 

  (c) 750 (…¶Ûä.)  (d) Š¸ÛÁõ¶ÛÛ ¸Ûíéïõà …éïõ¸Û¨Û ¶ÛÐüá 
  Information of M Ltd. : 

 Budgeted 

`̀̀̀ 

Actual 

`̀̀̀ 

Variable overheads    25,000 26,200 

Labour hours 5,000 5,050 

Production units 1,250 1,300 

  Calculate variable overheads efficiency variance. 

  (a) 1,200 (F)  (b) 1,200 (U) 

  (c) 750 (F)  (d) None of the above  

 (7) ›Ûé ¶ÛºõÛ-›÷¬¬ÛÛ¶ÛÛé •Ûä̈ ÛÛé«ÛÁõ 40% ÐüÛéýÛ, ÍÛÅÛÛ¾Û©Ûà •ÛÛÇÛé 25% ÐüÛéýÛ …¶Ûé ÈÛé̃ ÛÛ¨Û ` 12,00,000 
ÐüÛéýÛ ©ÛÛé ¶ÛºõÛé ïéõ¤øÅÛÛé ¬ÛÉÛé ? 

  (a) ` 4,80,000  (b) ` 3,00,000 

  (c) ` 1,20,000  (d) Š¸ÛÁõ¶ÛÛ ¸Ûíéïõà …éïõ¸Û¨Û ¶ÛÐüá 
  If P/V ratio is 40%, margin of safety is 25% and sales is ` 12,00,000, then what 

will be the profit ? 

  (a) ` 4,80,000  (b) ` 3,00,000 

  (c) ` 1,20,000  (d) None of the above 
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 (8)  ¶ÛºõÛé = 

  (a) ÈÛé̃ ÛÛ¨Û – (ÜÍ¬ÛÁõ ”Û˜ÛÛÙ + ˜ÛÜÅÛ©Û ”Û˜ÛÛÙ) 

  (b) ºõÛÇÛé – ÜÍ¬ÛÁõ ”Û˜ÛÛÙ 

  (c) ÍÛÅÛÛ¾Û©Ûà •ÛÛÇÛé × ¶ÛºõÛ-›÷¬¬ÛÛ¶ÛÛé •Ûä̈ ÛÛé«ÛÁõ 

  (d) Š¸ÛÁõ¶ÛÛ ¼ÛµÛÛ ›÷ 
  Profit = 

  (a) Sales – (Fixed cost + variable cost) (b) Contribution – Fixed cost 

  (c) Margin of safety × P/V ratio (d) All of the above 

 (9) ÍÛ¾Û©Ûæ¤ø Ü¼Û¶þäù…é 

  (a) ºõÛÇÛé = ÜÍ¬ÛÁõ ”Û˜ÛÛÙ (b) ¶ÛÐüá ¶ÛºõÛé ¶ÛÐüá ¶ÛäïõÍÛÛ¶Û 

  (c) ÍÛÅÛÛ¾Û©Ûà •ÛÛÇÛé ÉÛæ¶ýÛ (d) Š¸ÛÁõ¶ÛÛ ¼ÛµÛÛ ›÷ 
  At Break even Point 

  (a) Contribution = Fixed Cost (b) No project no loss 

  (c) Margin of Safety Zero (d) All of the above 

 

___________ 


